12 GA. GALV. STEEL 3" 20GA. STRUTS ATTACHED
COMMERCIAL TOP ROLLER W/ (@) 1/4° x 3/4°
BRACKET ATTACHED W/(4) HEX HEAD SCREWS AT

3 . ADJUSTABLE ROLLER CARRIER 3’ 20GA. STRUTS ATTACHED
O i S R T ATTACHED V/ (@) 5/16' x W/ (@) 1/4" x 3/4 144, CENTER HINGE EACH END STILE
e o o 3/4° BOLT & NUT PER HEX HEAD SCREWS AT W/ (5) 1/74° x 3/4°
. BRACKET EACH CENTER STILE HEX HEAD SCREWS
12 GA COMMERCIAL 14 GA. END HINGE ATTACHED Yt
. . ¢ (4> 174" x 3/4* HEX HEAD SCREWS °
2 10 DALL STEEL 5 STEM 7 . SCREWS ADJUSTABLE SLIDE 2 10 BALL STEEL 9* STEM 0)
HURRICANE ROLLER W/ 7/16 e . 4 1/2°H X 20 GA. (4* R-TRUSS) ' BRACKET ATTACHED HURRICANE ROLLER W/ 7/16”
RETAINER FOR NON-THREADED . ATTACHED W/3> 1/4° X 3747 U/ B/16" x 374° BOLT RETAINER FOR NON-THREADED
SHAFTS - 4 1/2'H X 20 GA. ¢4* R-TRUSS) HEX HEAD SCREWS AT EACH AND NUTS SHAFTS
- HEX FEAD SCREWS AT EAGH END STILE CENTER STILE 24 GA SKIN 14GA, ADJUSTABLE ROLLER
' CARRIER ATTACHED TO
R-TRUSS W/ (3} 1/4" x 3/4°
TYPICAL TOP FIXTURES @ HEX HEAD SCREWS
N.T.S.
\ (> 4 1/2°H X 20 GA. 4.5 20GA. R-TRUSS ATTACHED
" GLAZING OPTIONAL ‘ GALV. STEEL R-TRUSS W/ @ 1/4° x 3/4*
327 MAX. SECTION HEIGHT B /— B . A L\(TPSI CAL CENTER HINGE STACKED ON BOTTOM OF TOP FIXTURE HEX HEAD SCREWS AT
i | —— 1S ATTACHED W/ (3> 1/4° x 3/4' EACH END STILE
HEX HEAD SCREWS AT EACH END
_ STILE AND W/ (2 1/4° x 3/4° TYPICAL END HINGE 3
) HEX HEAD SCREWS AT EACH CENTER N.T.S.
v STILE
(1> 3° x 20GA STRUT ON
BOTTOM OF TOP SECTION
R A v L amn? 3* 20GA. STRUTS ATTACHED
CENTER STILE W/ @ 1747 x 3/4°
HEX HEAD SCREWS AT
EACH CENTER STILE
1> 4 1/2°H X 20 GA. GALV.
STEEL R-TRUSS PER
INTERMEDIATE SECTION ATTACHED 14GA. CENTE%:&SE%
W/ (@ 1/4° x 3/4" HEX HEAD W/ G 1/ATTACHED
2 NI eIE——————————gI———- SCREWS AT EACH END AND (@ AT S X e
EACH CENTER STILE. E
h 1> 3* x 20GA STRUT DN
BOTTOM OF INTERMEDIATE 4.5° 20GA. R-TRUSS
: SECTION ATTACHED W/<@ ATTACHED W/ @
174 X 3/4 SCREWS AT EACH /40 x 3/4% HEX
END AND CENTER STILE HEAD SCREWS ATEACH
CENTER STILE
14GA, ADJUSTABLE ROLLER
: CARRIER ATTACHED TO R-TRUSS
e A GLAZED SECTION CENTER HINGE [ ¢
547 27" 277 27 27 54¢ NS,
160" MAX W4 1/2H X 20 GA GALV.
—0* - 20GA. STRUT STEEL R-TRUSSES ON
ATTACHED W/ BOTTOM SECTION ATTACHED W/
SUTTON BRACKET @ 1/4° X 3/4” @ 1/4* x 3/4" HEX HEAD
. - HEX HEAD SCREWS SCREWS AT EACH END AND (@ AT
4.5" 20GA. VR / EEL;SIS ,f.TTxA%'jEﬁ {/3/(65‘;' 1T/111'C|§( g'r/};eCHED AT END AND CENTER EACH CENTER STILE
v e AL HEX HEAD SCREVS STLES REV_ | DESCRPTION OF REVSIONS DAE | BY
EACH END STILE 14GA. ADJUSTABLE RILLER | BOTTOM SECTION: 4 1/2°H X 20 GA,
CARRIER ATTAlCHED TE'l (4" R-TRUSS) GALV. STEEL R-TRUSS
R-TRUSS W/ (3) 1/4* x 3/4 — STACKED ON TOP OF BOTTOM BRACKET
HEX HEAD SCREWS , , ATTACHED W/ <4 1/4* x 3/4*
2’ 10 BALL STEEL 9° STEM HEX HEAD SCREWS AT EACH END MAX SIZE
HURRICANE ROLLER W/ 7/16 STILE AND W/ @ 1/4° x 3/4° 18" x 14 | =%
457 20GA. R-TRUSS RETAINER FOR NON-THREADED HEX HEAD SCREWS AT EACH CENTER 28
ATTACHED W/ @ SHAFTS STILE DESIGN LOADS| B3
27 10 BALL STEEL 9 STEM 174" x 3/4° HEX Q@
e RS NIk T306 rer | 85
SHAFTS EACH END STILE HEX HEAD SCREWS 2%ngmEDBRACKET . >':<, ug-
w
W/ (5) 1/4" x 3/4" aX
TYPICAL BOTTOM BRACKET (' OPTIONAL STRUT PLACEMENT ) ke TEST LOADS | 5E
N.T.S. N.T.S. (1.5 x DESIGN LOADS) %Q_
+27.3 PSF 5¢
2 X 6 SYP OR SPF -30.9 PSF | Eg
20 GA, GALV. JAMB SEAL (NO. 2 OR BETTER) SECTION A—A (SIDE_WVIEW) 2=
STEEL END STILE OPTIONAL 23
1] S
1 5/16* x 1 5/8° g3
LAG SCREW PER 5%
JAMB BRACKET ==
THE METHOD OF TESTING WAS IN SUBSTANTIAL
« son A 2* 10 BALL STEEL 9° STEM CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM
SPLICE BOLT R R N mREASED E330 AND DASMA 108. THE PRESSURES SHOWN ON THE arr
Jz:g ggzcig SHAFTS DRAWINGS WERE CALCULATED USING ASCE 7-16 WITH THE
FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE
INTERMEDIATE B T E, RILLER END ZONE, ROOF AT ANY SLOPE):
X CARRIER ATTACHED TO R-TRUSS
2" GALV. STEEL‘TRACK HINGES 14GA (MIN.) W/ (3) 1/4" x 3/4° WIND SPEED (MPH) 143 130 123 118 113 MODEL #500 AMARR CLASSICA 1000, 2000
THICKNESS -0837(N) 457 X 20 G R-TRUss HEX HEAD SCREVS EXPOSURE LEVEL B c c D D
n n 5 5 n SZE| ORAWNBY  DRC| DATE 07/06/2020 DRAWNG NUMBER
TRACK MOUNTING DETAIL MEAN ROOF HEIGHT | 30 15 25 15 25 RC=5318-110-04
N.TS. B ciecken By 0L | DATE 07/07/2020
AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 SHEET 1 OF 3




GLAZING OPTION CROSS SECTION

GLAZING NOT_AVAILABLE IN WIND-BORNE DEBRIS REGION

GLAZING MEETS ASTM E1300-04

DearaFrame WINDOW FRAME
YWITH UV PROTECTION

({

MIN. 1/8” THICK
TEMPERED GLASS

i

1

/7

(2) #8 X 3/4"
PAN HEAD SCREWS
AT EACH WINDOW FRAME

SECTION B-—-B

MOLDED INSIDE FRAME:

<
CSPLICE>

E-I

B

-
A
t

39.054 |

(GLASS)

21625
(GLASS

SHORT PANEL GLAZING FASTENER DETAIL

N.T.S.

SPLICE TRACKS AT THIS LOCATION

LAG BOLTS

(1) 5/16” DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL
JAMB BRACKETS

ATTACHED W/ (1) 1/4"-20
TRACK SPLICE BOLT & NUT
OR (2) RIVETS

TRACK CONFIGURATION FOR 8' TALL DOORS

N.T.S. SEE TABLE 3 FOR LOCATIONS

W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS
SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8"

I*—————‘—— DOOR HEIGHT

DN

WOOD JAMB ATTACHMENT TO STRUCTURE

X VERTICA

2 X 6 VERT

1

HILTI KWIK BOLT 3/8° X 4’ STARTING 6" FROM ENDS THEN 24°
HILTI SLEEVE ANCHOR 3/8° X 2-3/4° STARTING 6 FROM ENDS THEN 24‘ 0O.C. <1 1/4 EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4 STARTING 6° FREIM ENDS THEN 24" O.C. <2 172" EMBEDMENT)
H W_C-—

SIMPSON 1/4 X 3* TITEN SCREWS STARTING 6° FROM ENDS, USE PAIRS OF FASTENERS
(3’ APART> AT 16" 0O.C. <1 172" EMBEDMENT)
HILTI 1/4" X 2-3/4" KWIK-CON II+ SCREWS STARTING 6’ FROM ENDS, USE PAIRS OF
FASTENERS (3” APART> AT 16“ O.C. <1 1/4* EMBEDMENT)

JAMB ATTACHMENT TO GRO
HILTI SLEEVE ANCHOR 3/8° X 2-3/4" STARTING 6 FROM ENDS THEN 24 OC. (1 1/4*
EMBEDMENT> ¢OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

C-90 BLO

AMB ATTACHMENT TUR
5/16* X 3’ LAG SCREWS STARTING 6” FROM ENDS THEN 24" O.C. <1 1/2° EMBEDMENT)
AMB ATTA NT T P

0C. (2 1/2° EMBEDMENT)

000 PSI GROUTY

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wOOD JAMBS BY OTHERS

A

VERTICAL LIFT

A 1
wooD CONCRETE HOLLOW BLOCK
GROUTED BLOCK
g STRUC_TURE STRUCTURE STRUCTURE STRUCTURE
= I l .l
2
Iy ] 1 ] 1 \ 1
- J T | - | -
1/2* MIN 2-3/4° MIN 1-1/2* |MIN 47
i 2X6 JAMB
TYP. 37 MIN

HIGH LIFT
yer i
STANDARD UIFT

L

AVAILABLE TRACK CONFIGURATIONS

LOW HEADROOM

N.T.S.

REV_[DESCRIPTION OF REVISIONS DATE_ [ BY
MAX SIZE | __ g
DE1S|8GNX lj:ADS §§ "":é\()\;“ N\ o
P =z
F182 PSF | 2L S BN E«l;,‘ 5
-20.6 PSF | Z¢ P d‘ ; S
Ez s * & < -
e Va5 //’ o
TEST LOADS A SOOI TV RN ...., 5
(1.5 x DESIN LoaDs)| £ ; THOMAS L. SHELME // 3
+27'3 PSF g g ’000 7 *0ssesceTsOReO C 2
~30.9 PSF | £3 ’,«9;;. 85829 -’«,/ 2
53 N A 5
594 WA SN0 S &
E WIsioNaL N2 .
% M o
£ O -
~& TX g

arr,

MODEL #500 AMARR CLASSICA 1000, 2000

SZE| DRAWNBY  DRC| DATE 07/06/2020 DRAWING NUMBER
B | ciecken BY DL | DA 07/07/2020 IRC-5318-110-24
165 CARRIAGE COURT WINSTON-SALEM, NG, 27i05 | SHEET 2 OF 3




TABLE 2

S TABLE 4
ECTI O N STRUT SIZE . Center Stile Locations Max Design Loads
Section
4 5,, (Measured from Left Edge) Allowed
TOP - 4th Sth | Positive | Negative
3" (in) @) | PSF) | (PSF)
356 0.2
" , 349 35.5
5TH 4.5 SPECIFICATIONS AND NOTES ; =3 58
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK, ? 33.7 38.2
3" FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS. ; 33.1 37.5
%E‘NI-SIEE'IQZR%%T?LR JSM% Eo% OHOEéADER RECEIVES NO PORTION OF THE LOAD ) 326 3.9
4.5" 2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: i 2?; 223
4TH +163.8 LBS/FT & -—185.4 LBS/FT 5T =T =57
n 3. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED =t g i : - -
3 AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. 108 308 34.6
10'10 30.1 34.1
4.5" g.o SOOR SECTIONS SHALL BE 24 GA. MIN. (.022") ROLLED FORMED LIGHT o 5 555 335
. MERCIAL QUALITY i i | i : :
3RD 5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED 12 292 | 339
3" BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS 114 28.8 32.6
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS. 116 28.3 32.1
45" % é)%%&}alisg/AgLérAcwRED AND TESTED IN ACCORDANCE WITH 118 77.9 316
110 [ 775 31.2
2ND . 1270 - | o5.688 [ 119.38] 20.7 23.4
3" INTERIOR OF GARAGE 12" 2 . ]196.938 | 120.88] 20.5 23.2
124 20.2 22.9
—=] MAX. WDTH 160" | 176 20.0 2.7
4.5" 2 8 798 | 225
BOTI-O M [Dm 121 16.6 22.2
4.5" Jerpaltrg 130 194 | 22.0
. -185.4 LBS/FT  SEE NOTE 2 1372 19.3 21.8
134 9.1 21.6
136 18.0 214
13' 8 18.7 21.2
131 18.5 21.0
140 18.3 20.8
142 85 18.2 20.6
156 03 21.0 23.8
158 54, 20.8 235
151 95, 20.6 23.3
ETY 20.4 23.1
97, 20.2 22.8
.; 20.0 22.6
TABLE 3 o oo L2 REV | DESCRIPTION OF REVISIONS DATE  [BY
DOOR TRACK ATTACHMENT SPLICE ELEE 5.4 21.9
HEIGHT[AT B[ C|[D|E|F |G| H]J I S o i MAX SIZE
7 10| 21" | 37" | 47" | 63" 76" 5.8 713 18" x 14’ o~ §
7l 6" 10" 21" 38" 58" 75" 82" i J 1:.2 ;g-; Dis:gNz LPOSAFDS gg -QIE\O\;;\E \‘ §
] 1" " " " " " it z - N wo. 4-‘. setsen, ~
8 |10"[21"]38"|58" |75 88 ‘ 17 [780.21 | 107.00 183 | 207 -206 PSF | o £ A i *46}\ s
;81 6" 10" 21" 38" 58" 75" 094" 18 : 4| 80.96 l;*'lO&QOi 135.04 f,TﬁZ.OQ,i 18.2 20.6 ég ;* '.'- -,... } ﬁ
9 [10"[21"]38"]| 58" | 75" | 95" 100" SHADED BOXES INDICATE HINGE LOCATIONS TEST LOADS | ®x 2% { il B
T YT 0 T T 0 T CONTACT ENGINEERING FOR DOOR WIDTHS NOT LISTED (15 x DESION LOADS)| - 9/ p 1y <
9'6" [10"| 21" | 38" | 58" | 75" | 95 106 +27.3 PSF | 5= 7.F g
10°  |{10"] 21" | 38" | 58" | 75" | 95" 112" —-30.9 PSF gé s
10'6" (10" 21" | 38" | 58" | 75" | 95" [112" 118" %ﬁ '(po - {,/C Nse‘?.--,'gé"; §
1 1| 10" 21" 38" 58" 75" 95“ 1 12" . 124" _:;(_E ‘ SI o’o..-oé$ ~' u_.
c 3 \ ONA\-
11'6" |10"| 21" | 38" | 58" | 75" | 95" |112" 130" Eg A ;
12' 10"| 21" | 38" | 58" | 75" | 95" [112"]|132" 136" T TX a
12'6" 10" 21" 138" 58" | 75" | 95" |112"|132" 142"
13' 10"] 21" | 38" | 568" | 75" | 95" |112"[132" 148" a r
13'6" |10"{ 21" | 38" | 58" | 75" | 95" [112"]132"]149"| 154" : r
14" 10"} 21" | 38" | 58" | 75" | 95" |112"|132"|149"| 160"
ALL TRACK AND ATTACHMENT SPACING +/—2" MODEL #500 AMARR CLASSICA 1000, 2000
ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY
SIZE| DRAWN BY  DRC| DATE 07/06/2020 DRAWING NUMBER
B | ceckep sy 0w | DA 07/07/2020 IRC-5318-110-24
165 CARRIAGE CDS'!;'?R\R/Igg":gGTgALEM, N.C. 27105 SHEET 3 OF 3




